1-3 Notes pp.19-24 4th period.notebook

Lesson 1-3
O Explore It! - Add Integers

Rain increases the height of water in a kiddie pool, while evaporation
decreases the height. The pool water level is currently 2 inches
abave tha fill line,
Starting
Height of
Water

Ican...
scld integers

Fill line

A. Leak for patterss In the equations in the table so you can fill in the
missing numbers. Describe any relationships you notice

B. Wil the sum of 2 and (-6} be a positive of negative number? Explain.

Focus on math practices

Look for Relationships Suppose the water level of the pool started at
2inches below the fill line. Make a table to show the starting height of the
water, the change in inches, and the new final height of the water,

€) Essential Question How do you use what you know
bout absolute value to add integers?

°LE 1 @ Add Two Negative Integers

Mita wants to straighten a photo.

She uses an app to adjust the tilt.

‘What was the total tilt adjustment?

e

Lﬂeawning Wiy ks the total
tilt adjustment negative?

Adjust by Adjust by anather
—4 degress, —6 degress

Use a number line to represent the tatal tilt adjustment. Add integers to find the total tilt adjustment.

A+ (-6

Start at 0.

Move 4 units Because you moved 4 units and then
Then move & units left to show left to show & units in the same direction on the
an adjustrent of - 6. The total an adjustment number line, add the absolute values
adjustrment was —10, f -4 to find the amount of tile.

10 represents the

< amount of tiltt.

4] + | -8
4+6=10

Because you moved to the left twice,
the sum is negative.

The sum of —4 and —& is located The tilt starts A4 (-8 = -10

6 units to the left of 4. at 0 degrees. | Both adjustments

\, are negative, so

thie 1T is negative.

The total tilt adjustment was — 10,

& Try It!

Dana recorded a temperature drop of 2 and a second temperature drop
of 3°. What is the total change in temperature?

| .
) i o
The sign of the sum is | The tatal change in temperature is | .

Convince Me! Would the sum of two positive integers be positive or negative? Explain
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m o Add Integers with Different Signs
K

ara entered her chili recipa into the neighborhood
eook-off. Mine judges rated each recipe with a thumbs up
{+ 1) or thumbs down { —1). What was the final rating

August 19, 2019

for Kara's recipa?

Reasoning There were more
thumbs-down votes, so the final
rating ls negative.

Wse a number line to represent Kara's final rating.

Start at 0. Move 5 units left
for —5. Move 4 units right
for 4 The final rating is —1.

—
1
“5-4-3-2-1 0 1

The surn of —5 and 4 Is located
4 units te the right of -5,

; Total
Add integers to find Kara's final rating
5+4

Because you moved in different directions on the
number ling, subtract the absolute values.

5/ — |4

S—d=1

There is 1 more thumbs
. dowm vote than thumbs up.

Because you moved 2 greater distance to the left
than to the right, the sum is negative,

S+4=-1 The sum is negative because

| =5| is greater than (4],

The final rating for Kara's recipe was < 1.

Play

What is his combined score for the first two holes?

2 called additiveirmersss, or opposites.
2| =2 and 2|=2 ‘When the signs of hy
the addends are ol I
2-2-0 . different, subtract 2
the abalute values. [
S0, 24 (-2}~ 0. ——

Mike's combined scora for the first two holes is 0.

© Ty 1t

indt the sum for each expression.

a. —66+42 b. —57 +57

Golnine | PaarsoaRealize.com

Q qdd

When adding integers with the same sign, find the
sum of the absolute values.
—

{—36) +{—12)

—36| = 36 and |12 =12
36+ 12-48

Use the same sign

o, (~af)+(-12) - —4 a5 the addends.

m o Identify Additive Inverses and Opposite Integers
ing golf, Mike gota +2 on the first hole and — 2 on the second hale,

Two numbers that have a sum of 0 are

€ 29+ (-28)

12 Add Integers 7

& - ee. 4
When adding integers with different signs, find the

difference of the absolute vATET s JL * rea ‘4

—
18+ (-1

18| = 18 and [-14| =14
18- 14-4

Use the sign of the

S0, 18+ {14} -4
0, Fa v greater absolute value.

Do You Understand?

1. ST How do you use what
you know about absolute value to add integers?

2. Reasoning How can you tell the sign of the sum
of a positive and negative imteger without doing
amy calculations?

3. Model with Math How would you use a
number ling to determine the sum of two
negative integers?

2z 1-3 Add Integers

Do You Know How?

4. Sarah bought a bike that cost §260, She had a
eoupan that was worth 55 off the cost of any
bike. Use the expression 260 + (- 55) to find how
rruch Sarah paid for her bike.

—~¢0+(2s)
60

+asS

-35
The figh is
swimming BS feet
below +he su-fuce
of the ocean,

5. A shark ks swimming 60 feet below the surface of
the acean, There is a fish that is 29 dgaf deeper
in the water. Use the expression (~60) + (-~ 25) to
describe the fish's location relative to the surface
of the ocean.

6. The high temperature one day was 30°F. Then
the temperature dropped 23 degrees during the
night, Does the expression 30 = (-23) represent
the temperature at night? Explain.

Goriire | Pearsanealize.com
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Mame:

Practice & Problem Solving @& @
Leveled Practice For 7-9, use a number line to help find the sum,

7. 5+(—3}i53 units from 5, in the leﬂ' 8 —1+(-3)is

direction n’”’;qg

Use: the number line to find 5+ (-3},

units from —1, in the

direction,

©® - @~

Sean far
Muktimedia

August 19, 2019

%

T | | | I T ——
d T e Y T T ettt
IR 3L LI H + 5-4-3-2-1 0123 45
9.1 the: temperatul " feom B A, 1o 9 am. Then the temperature
o fr0m 9 4. to 10ATR | he temperatur 5° from 8 au.
o9 a.m. Them the temperatu 5 4° from § & to 10
I I ey
Tt T T R
02 4 6 810 —10-B -6 -4-2 0

a. What

o B the change in tempi

oA

b. What integer represents the change in temperature for City A7

€. What

the change in

to 10 .4m.7

&. Which city has the greater change in tem?ag&e fram @
Y O,

10. An airplane flying at an aktitude of 30,000 feet flies up
to avoid a storm. Immediately after passing the storm,
the airplane returns to its original altitude.

a. What integer represents the airplane’s change
in altitude to avoid the storm?

b. What integer represents the airplane’s change
in altitude immediately after passing the storm?

. Use Appropriate Tools Draw a number line to

represent the alrplane’s change in altitude, a

The airplane flies
up to 38,000 feet
to avoid a storm,

- | ||
T T
30,000 34,000

36,000

Goefne | Prarsonfealize.com

@A deeprsen dhver dives B1 feet from the surface.
He then dives 14 more feet, The diver's depth

can be reprasented by —B1+ (—14), What is the
divers present location?

12. Rena's rowboat drifts 23 feet from shore,
followed by % more feet. The rawboat's current
pasition can be represented by —23 + {~9}. What
integer represents the rawbaat's position?

@(ﬂ'thue Reasoning A submarine traveling 200 meters below the surface
the ocean increaces its depth by 45 meters, Adam says that the new
location ef the submarine i —155 meters. Detcribe an error Adam could
have made that would result in the answer he gave.

14, Kim has $45 to spend for a day at the zoo, She
pays $17 for admissien, $8 for lunch, and $4 for
asmack.

Higher Order Thinking Samantha has $300 for
guitar lessons to learn her favorite song.

Mrs. Jones charges §80 per lesson and requires
three lessons to teach Samantha the song.

M. Beliz charges $62 per lesson and will require
four lessons to teach Samantha the song. Use
integers to represent what each teacher charges.
Which is the better deal for Samantha?

o

a. Model with Math Use integers to write
an addition expression that represents the
amount of money Kim has left

b. Kim goes to the gift shop
and finds a T-shirt she likes
for $19. Does she have
enough money to buy the
Teshirt? Explain,

@ Assessment Practice

16. Draw lines to match each situation on the left with its addition expression on the right.

A fish swims at 10 ft below sea level, and then
swims another 10 ft deeper to avoid a shark.

10 +{-10)

Troy takes 10 steps forward, and then takes

10 steps hack. ~10 4410}

The temperature draps 10 degrees, and then

Flses 10 degrees., =10+ (10) v

24 13 Add Integers Golriine | Pearsonfiealize com

-
i IerL—I(yB?-s *k .f) , >
d. What Integer repretents the change in temperature for Clty B

9° chavge Vs.

1-3 Add Integers

3

-3l
dd

-1

G'él. _8“-(-"*)

-as
The diver s
currently aS feet
l,!“"" +He gur face
of e water
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